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1) Y32y F=9 APds

A48 g2 AdYyEe AT AddEs AR of= tE daEF =l Bl Azt =

2 o od AdcE Bl YAT H2E 2IYE Aol B FFT Do glol FolHe AT

A, ZETE F H ged AREsr] d7] WEel At

HIaEF 9 HAL olFstt. A7 StolHE Tl Stu F4 AlEdd ALY F F 2 Fde HA

T4 vlF g2E9 xpath F4F 7449 find_element $45 83| P2ES 2EIJYch 1 o

£ Jolrke MES FYstE Z=E AHEE 2 2ot oA MRT £ YES ok 1 A 3

gritte] 34 MREES BF /S 5 Atk AY HTATE G4 WREE BREE Bout 5
HhAlo] &

from selenium import webdriver
from selenium.webdriver.common.by import By
import time

no= int{input{))

test = webdriver . Chrome{executable path=r"C:#Usersiecusailonn loadstchromedriver win32fchromedr iver . exe")
test.get('http://iasa, lcehs. kr/food| ist, dofyear=2022&mnont h=038m=0404068s=5aa ')

time,sleepl3)

for | in range(n):
#last xpath = test.find element{ xpath”, '/ /o f@io="con boay" [ divi3]/table/ thogy/trf2l/ tararsul ')
#last xpath = fest. find element by xpath! /o f@id="con body” /a3l tablestbody/tr 2] tararsul ')}
last_xpath = test.find_element(By .XPATH, '//=[Eic="cor_body"]")

last = last_xpath. text

last = last.replace{ '#n#n',"'")

print{last)

print{" Y

O O

test.find_element (By . XPATH, '//*[@1d="con_body"|/div[1]/p/ale]) click()

fAbE

F2PH | |0 =212.13.16.

PR 2 RIS . 9.13.
HAEl=S4{=1.2.5.6.12.13.
OFHEEST=

=2l & (2h)9.13.

=== (22)2.5.6.13.

SETFEH .2.5.6.10.13.16.= 04Kl : 759 . 5/CHHEN @ 25 1/2k= : 314.2/2 : 4.9
5

- =08t

- SHEASH|IH(1.2.5.6.9.10.12.15.16.)
- HE=Z2(1.2.5.6.10.13.15.16.158.)
- ASAILE(E.6.)

- DOt &F2HE (2. 5.6.12.13.15.18.)
- 2D (2H(9.13.)

ElpEE(R))

00 EHI

1]
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import serial, time

from openpyx| import Workbook
import datetime

wh = Workbook({)

# grab the active worksheet
ws = wh.act ive

port = "COM7
brate = 9600
Fomad = temp”

seri = serial.Serial(port, baudrate = brate, timeout = 5)
time.sleep(5)

for _ in range{10):

seri write(b'temp')

time.sleepl?)

if seri. inwaiting I=10:
content = seri.read_all().decode(]) split{"#n")
content = [datetime.datetime.now()] + content
ws. append{content)

WO~ O O f= 00Ny — W 0O f= 0 D —

el AeR M)
WM — o

wh.save ("data.xlsx")

WMo Mo
Ol =

KSME

ws.append(["AIZH', "Sx= [%]", "2x [C]", "datEE (rel)", "IHHEEIt2 (rel)”, "OIAIEA [ug/m™3]",

"
ZE

= {rel)"])

4 B | A5t

DHT-22 MO-7 MO-2

2 AL YMBIEIA JIOIMT|F|
HiA MM (JRAMIA

Bread
Board

Pm2.5
OIMIEA]
MIA
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7t. 25 %= AX(DHT-22)

#include "DHT.h"
#define DHTPIN 2 // SDA Heo| 4%
#define DHTTYPE DHT22 // DHT22 (AM2302) ¥IMZHF 473

DHT dht(DHTPIN, DHTTYPE);

void setup() {
Serial.begin(9600);
dht.begin();

}

void loop() {
J M| 229t SEE Yo 20t
float h = dhtreadHumidity();
float t = dht.readTemperature();

if (isnan(t) || isnan(h)) {Serial.printin("Failed to read from DHT");

} else {
/2R, SE BN A28 2L EH 59 L
Serial.print("Humidity: "); * d}‘LEreaéiHurEnlglty()H .
Serial.print(h); c SEE %2 HE
Serial.print(" %Wt");
Serial.print("Temperature: "); + dhtreadTemperature()
Serial.print(t); 2EE AN B = BtE
Serial.printin(" *C");
} « DHT-sensorzip H Adafruit_Sensor.zip

delay(2000);

) gtoj=aig| £t Ee

1. CO241A4)(CM1106)

#include <SoftwareSerial.h> void setup() {
pinMode(13,INPUT);
SoftwareSerial mySerial(13, 11); pinMode(11,0UTPUT);
unsigned char Send_data[4] = Serial.begin(9600);
{0x11,0x01,0x01,0xED}; while (!Serial) ;
unsigned char Receive_Buff[8]; mySerial.begin(9600);
unsigned char recv_cnt = 0; while (!mySerial);
unsigned int PPM_Value; }
void Send_CMD(void) { void loop() {
unsigned int i; Serial.print("Sending...");
for(i=0; i<4; i++) { Send_CMD();
mySerial.write(Send_datali]); while(1) {
delay(1); if(mySerial.available()) {

} Receive_Buff[recv_cnt++] = mySerial.read();
} if(recv_cnt ==8){recv_cnt = 0; break;}
unsigned char Checksum_cal(void) { }

unsigned char count, SUM=0; }

for(count=0; count<7; count++) {

SUM += Receive_Buff[count]; if(Checksum_cal() == Receive_Buff[7]) {

} PPM_Value = Receive_Buff[3]<<8 | Receive_Buff[4];

return 256-SUM; Serial.write(" PPM :");
} Serial.printin(PPM_Value);

}
else {

Serial.write("CHECKSUM Error");

}
delay(1000);
}
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o CORAMQ7)

int GasPin = AQ; // 7AMAM YHZ 2ot o220 ¢

void setup() {
pinMode(GasPin ,INPUT);
Serial.begin(9600);

}

void loop() {
Serial.printin(analogRead(GasPin)); // 7IAMHME C|O|E|& oot &
delay(1000);

} . O|He| 245, oMM Ch=A| THelst HriHo|x| 2e.

+ 0~1023 AfO|2] HLHHQI Zo= AUMBIEA| SES 5

2t 7lAA 7k2AA (MQ-2) _ LPG, R Wg 5
27 9

int GasPin = A1; // 7[24M YHE 2|8 of2

void setup() {
pinMode(GasPin ,INPUT);
Serial.begin(9600);

}

void loop() {
Serial.printin(analogRead(GasPin)); // 7I24IME H|O|E & oI} &
delay(1000);
} - O|FHe] 2E&, co2MQtE Ch2A| BH9|7t HIfHo|x| &3,
- 0~1023 AlO|2| ACEQl 22 7i¢ld 7tAo| S8 5H

af, wlAHR] PM25 ZFAA

int dust_sensor = A0; // OJMHX| E HS void loop(){
digitalWrite(sensor_led, LOW); // LED #7|
float dust value = 0; // WAMOAM 2 22 OM] delayMicroseconds(sampling); // HEZNF= AlZH
x| &t
float dustDensityug=0; // ug/m~3 2= A4 dust_value = analogRead(dust_sensor); // HIA 2t 210{27|
int sensor_led = 12; /7 Ol MTHX] HA ot 2} delayMicroseconds(waiting);
= HolH |ed T HS
int sampling = 280; // O|MHX|E SH5t= digitalWrite(sensor_led, HIGH); // LED 117|
HEE M7t delayMicroseconds(stop_time); // LED 1111 C}j7|
int waiting = 40;
float stop_time = 9680; // HIME L SoIX| & dustDensityug = (0.17 * (dust_value * (5.0 / 1024)) - 0.1) *
= Azt 1000; // ALt
Serial.print("Dust Density [ug/m3]: ");
void setup(){ Serial.print(dustDensityug);
Serial.begin(9600);
pinMode(sensor_led,OUTPUT); // O|H|HX| Xg| delay(2000);
A led }

}
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i St OE ofFoli MMz gole]

import serial Python 2 E String input = "7} Arduino 2 E
String emd = "temp”;
port = ‘COMT' String response = "";
brate = 9600
cmd = ‘read’ void loop() {
if(Serial.available()) {
seri = serial.Serial(port, baudrate = brate, input = Serial.readStringUntil("#n");
timeout = None) }
print(seri.name) //Serial.printin(input); // CIHZ &
if(Serial.available()==0 && input == cmd) {
seri.write(cmd.encode()) response = “OC|MI =AM & 2t EF-";
Serial.printin(response);
while True: input = "
if seri.in_waiting 1= 0 : }
content = seri.readline() }
print(content[:-2].decode())
break

=

flaskE ©]83t A= WA G 3}

from flask import Flask

app = Flask(_name_)

@app.route('/")

@app.route('/home’)

def home():
return "
<h1>2Z</h1>
<p>2Eoh</p>"

if _name_ =="_main_"

app.run(host="0.0.0.0', port=8000, debug=True)
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<HE _obFole FE >

$include "DHT.h"™

$defin= DHTPIN 2 /7 s 2] EHF

$define DHTTYPE DHT22 // DHT22 (AM2302) MIMER &3
#include <SoftwareSerial.h>

DHT dht {DHTPIN, DHTTYEPE):

SoftwareSerial mySerial (&, 5);

unsigned char Send data[4] = [0x1l1,0x01,0x01,0xED};
unsigned char Receiwve Buff[8];

unsigned char recv cnt = 07

unaigned int PPM Value;

int COPim = A0; // CoJpAMM RIEHE 2 P21 T
nt GasPin = Bl; // JFHEEJEAEM BEE SEF OFEFE0 O

int dust_sensor = R2; // OMEA T BE

float dust walue = 0; // HMHAM 2 B2 OMTA ZF
float dustDensityug=0; // ug/m"3 'S H&F

int sensor_led = 12; J0 OLAER MM 2HH Sl HEE 1ed T HE
int sampling = 280; J¢ DIHTAE =25 4S8 A2

int waiting:-= 40;:

float stop_time = 9680; /7 MME AZ5HN B= A2

int light senaocr = RA3;

String imput = "";

String cmd = "temp”;
String response = H

void Send CHMD({wvoid) |
unsigned int i;
for(i=0; i<d; i++) {
mySerial.write {Send data[i])-
delay({l):

unsigned char Checksum cal {void) [
unsigned char count, SUM=0;
for (count=0; count<7; count++) |
5TM += Receiwe Buff [count]:
}
return 256-5UM:

vold setup() |
pinMode (6, INPUT) ;
pinMode (S, OUTPUT) ;
{COPin , INEUT) ;
de {GaaPin, INFUT);
fode (sensor led,OUTEUT): // OIMEA Il 1=d

Serial.begin (9600);
mySerial.begin (9600} ;
while {'mwSerial);
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unaigned int read CO2() {
Send CMD{);
while (1) {
if (mySerial.available(}) {
Receive Buff[recv cnt++] = mySerial.r

ead()r
if{recv_cnt ==8) [recv_cnt = 0; breakr}

}
}
if {Checksum cal(} == Receive Buff[7]) [
PPM Value = Receiwe Buff[3]«<<8 | Receiwve Buff[4]:;
return PPM Value;
}
elae |
return 07
}

read dust(){

lWrits (sensor led, LOW): // LED #HZ

Ly

onds (sampling) ; P = e e

dust walue = anzlogBRead{dust sensor): // MM ZF THZI

yMicroseconds (waiting) r

digitelWrite (sensor led, HIGH); // LED 17|

[+%
]
=

ayMicroseconds{stop time); // LED 111 [H2

dustDensityug = (0.17 * (dust wvalue * (5.0 / 1024)) ) * 1000; 0 HE
return dustDensityugr

}

vold loop() {
J4HME 22T sEE HHELH
flocat h = dht.readHumidity ()
float t dht.readTemperature ()
Jfunsigned int co2 = read CO2():

Jl8erial.println{"waiting for input..");
if (Serial.available()) |
input = Serial.readStringUntil({"\n');

if(Serial.zvailakls({)==0 g& input == cmd) {
//response += "Humidity : ";
response += String({dht.readHumidity(}):
response += "\n";
f/response += " [E]\n";

//response += "Temp @ "}

response += String({dht.readlemperaturs());
response += "\n";

f/response += " [EC1\n":

J//response += "C02 : ";
//response += String(read CO2{))y
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f/response += " [ppm]\nT;

J/response += "C0 @ ";

response += String({analogRead (COPin));
response += "\n";

f/fresponse 4= " (rel)\n”;

//response += "Gas : ";

response += String(analogRead(GasPin));
response += "\n";

//fresponse 4= " (rel) “\n":

//response += "microdust : ";
response += String(read dust{)):
response += "\n";

//response += " [ug/m*3]\n";5
//response += "light : ";

response += String(analogRead(light sensor)):
J/response 4= " (rel)\n";

Serial.print {responae);

input = "";

regponse = h

Serial.print {"Humidity : ™);
Serial.print{h};
Serial.println(™%");

Serial.print({"Temp : ™);
Serial.print{t):

ol L]

Serial.println{™%C");

Serial.print(™C02 : ™);
Serial.print{cc2);
Serial.println{"ppm™)

Serial.print(™CO : ");
Serial.print{analogRead (COPin) )
Serial.println{™ (rel)™):

Serial.princ("JpH& : ™y;
Serial.print {analocgBead (GasPin) ) ;
Serial.println(™ (cel)™):

Serial.princ("OIMSHA] = ~y;
Serial.print{read dust{)):
Serial.println{™ [ug/m~3]"):

Serial.princ("2 : "):
Serial.print{analogRead(light sensor));
Serial.printin{™ (cel)™):

Serial.princln("¢¢#s3#44244™);
delay(1000) »
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